Rotary Actuator with Solenoid Valve

Series CVRA1

Rack Pinion Style/Size: 50, 63, 80, 100
How to Order

Electrical entry e—

G Grommet (Lead wire:300mm)

H Grommet (Lead wire:600mm)

E Grommet terminal

T Conduit terminal

D DIN connector

L With lead wire

LN col;waeligor Wlithout lead wire

LO Without connector Light/surge voltage suppressor
M With lead wire —
MN | MPIUG Ivitout lead wire T Wi

connector — z With light/surge suppressor
Rated voltage .ﬁ MO Without connector sO | With surge suppressor

1 100V AC 50/60Hz [Light attached type (Z) is not available for
grommet type. Surge voltage suppressor
2 200V AC 50/60Hz Solenoid valve attached style is available only for
3 [110to 120V AC, 50/60Hz configuration grommet style.
4 220V AC, 50/60Hz 1 Single solenoid Manual override
Z ig Bg g Dglubledsoler:oid —  [Non-locking style (Sid.)
osed center ;
B |Locking B style
7 240V AC, 50/60Hz 4 Exhaust center C |Locking C style
9 Other voltages 5 Pressure center
erEneEie CVRAL|B || S 5090 —1|1(|G —
WiGENeEE CDVRALIB || S 50190 —11(|1]||G — [1AB3||S
: Auto switch J'
Magnet installed —IV ORefer to the table below
With solenoid valve size Cushion el
Mounting 50 — Without cushion i .
B Basic Shaft styles 63 cd With cushion
—_ — " — No. of auto
L Foot S Single shaft 80 CExcept for angle adjustable type "U". switches mounted
Note) No flange type W __ | Double shaft 100 Rotation angle — T
F"is available. Single shaft with ) 90° e
X four chamfers Standard =1 2
Styles 180 | 180°
Y Double shaft key
Double shaft with — Standard Onti 100 | 100°
4 four chamfers U Angle adjustable ption 190 190°

Auto Switch Sp ecificatio nS/Q Refer to p.2.11-1 for further specifications of auto switch single unit.

8 Load voltage Lead wire lengthl(m)
" . " S | Wiring Auto switch .
o
Style Special function Electrical entry 3 | (output) DC AC part No. 0.5 3 | 5 | Applicable load
= = [ O]|@
3wire -
- » (Equiv.toNPN) — | SV _ AS56 o ® —|
] S 12V — A53 e o o PLC
(% - Grommet — 100V, 200V Ab54 [ ) [ BN | Relay, PLC
3 o| 2wire |2av| — — AB7 ® (@ — | IC PLC
o = — —
. 100v, 200v| A64 e o IC Relay, PLC
Diagnostic indicator (2 color) o — — A59W [ ® | — | —
i F59 O
3 wire NPN) | sv.o12v| — ® o Ic
_ 3 wire (PNP) F5P o ®| O
= ) —| — |100v,200v | J51 ® |0
= 2 wire —
= 12v J59 [ ® O
2]
3 wire (PNP F5PW O
£ | o 8i— (PP) 5V, 12V e o IC |Relay, PLC
% | Diagnostic indicator (2 color) |  Grommet 3 wire (NPN) F59W [ ) ® O
e . 24V J59W [ ) ® | O
° - 2 wire I e _
o | Water resistant (2 color) F5BA — ® | O
Timer 3 wire (NPN ES5NT — ®)
: , re (NP1 5V, 12V L Ic
Diagnostic output (2 color) 4 wire (NPN) F59F @ ®| O
[Bymbols for lead wire length 0.5m-:---- — Ex.) A53 [Auto switches without contact point marked with "O" are made to order specification.
3meeeeeees L Ex.) A53L
5m--eeeeees Z Ex.) A53Z

1.3-16



Rotary Actuator with Solenoid V alve

Rack Pinion Style

/A Precaution

| Be sure to read before handling.
j Refer to p.0-20 and 0-21 for Safety

I to p.1.0-2 to 1.0-4 for precautions on every
series.

Rotation rage of key grooves/
Solenoid valve mounting positions

Instructions and common precautions on the 1
products mentioned in this catalog, and refer 1

g
IR\ 20
Ro\a\\o‘\; O

S
e
Rotatio?

0o

Rotation & o2 o
Rotation 12

Light/Surge suppresser

Terminal No.1
A
AC | Cail
< [2nR
100V Terminal No.2
or
less Terminal No.1(+)
&l e
DC Coil A _
[ o_:l
2 Terminal No.2(-)
S
>
E Terminal No.1
©
o
Coil
AC ZNR
Terminal No.2
100V
or -
more Terminal No.1(+)
Coil j+
oi 4
DC '}' =
o—1
Terminal No.2(-)

Note) Light is not available on grommet type.

Specifications

Series CVRA1

Fluid Air

Proof pressure 1.35MPa
Max. operating pressure 0.9MPa
Min. operating pressure 0.15MPa

Ambient and fluid temperature

0°C to 50°C (No condensation)

Lubrication

Not required

Mounting

Basic, Foot style

Part No. for solenoid valve

VF3020-0000-20-X14

CRB1

Electrical entry

Grommet, Grommet terminal Conduit ternimal, DIN connector
L plug connector, M plug connector

CRBU

AC 100, 200V(50/60Hz
Coil rated voltage ¢ ) CRA]-
DC 24V
Allowable voltage change -15% to +10% of the rated voltage CRQ
Coil insulation Equivalent to B class (130°C) —
Inrush 5.6VA(50Hz), 5.0VA(60Hz) MRQ
Apparent current AC ) —
Holding 3.4VA(50Hz), 2.3VA(60Hz)
Power consumption DC 1.8W MSQ
_ MSUB
Weight (kg) ——
No. of positions/solenoids
Add —
Model weight| 2 position | 2 position | 3 position | 3 position 3 position
single double [closed center| exhaust center|pressure center
CVRA10O 50 to 100 | 0.2 0.2 0.3 0.4 0.4 0.4

How to calculate weight

Weight = Basic weight” + Add'l weight + No. of positions/solenoids

[Refer to p.1.3-3 for basic weight.

Manual override
Non-locking push style is standard.

Manual override

Electrical wiring

The DIN type terminal and the terminal pin (with
light and surge voltage suppressoer) are connected
internally as shown below. Therefore, connect
them the respective power supply terminals.

How to adjust rotating speed

Rotation direction
When current is applied SOL1, the shaft
rotates clockwise.

How to adjust the rotation speed:

Turn the needle valve of the throttle valve
clockwise to reduce the exhaust flow volume,
thus slowing the rotation speed.

Throttle valve A regulates the clockwise
rotation speed of the shaft and throttle valve B
regulates the counterclockwise speed to the
shaft.

Rotation in the
clockwise direction

SoL1

DIN block With terminal block
] TSN H
I &1 N
Tl e =
1“%g42 gg 1 & & [ el
VAN \—-*-l 8 A
Earth
Throttle valve
Terminal No. 1 2
DIN connector +
Terminal block + -

Instant energizing time

To operate the double solenoid type by applying
an instantaneous current, ensure that the current
is applied for at least 0.1 second.

1.3-17



Series CVRA1

Construction

With solenoid valve

Component Parts

With solenoid valve and auto switch

@ @ @

Auto switch

%3}

3
:13___‘__\‘\_
| e toes
i ;
=
T e T =
TRNRN V=N VA
| Al (En /
i \
@ é@ éw zlqj tgs @ d a8

&

L

Component Parts

No. Description Material Note No. Description Material Note

(1 | Body Aluminum alloy Hard anodized Sub-plate Aluminum alloy Black anodized
@ | Right cover Aluminum alloy Black anodized Sub-plate Aluminum alloy Black anodized
3 | Left cover Aluminum alloy Black anodized 2 | Pipe Stainless Chromated
@ | Piston Aluminum alloy Chromated @) | Fittings Aluminum alloy Chromated
® | Shaft Chromium-molybdenum steel @2 | Fittings Aluminum alloy

® | Parallel key Carbon steel @ | Oring NBR

@ | Slider Resin @ | Oring NBR

Connecting screw Carbon steel Zinc chromated @ | Oring NBR Black dyed
(@ | Bearing retainer Aluminum alloy Black anodized @0 | Hexagon socket head cap screw Steel wire Black dyed
Sadons %f:ﬁmtgh\?v?aghcgrp Chromium-molybdenum steel | Black zinc chromated @) | Hexagon socket head cap screw Steel wire

) | Tube gasket NBR Metal valve Sttainless

(2 | Piston seal NBR @9 | Switch mounting rail Aluminum alloy

i3 | Bearing Carbon steel Auto switch

Cross-recessed head cap screw Steel wire Black zinc chromated @) | Plastic magnet Magnetic substance Nickel plated
@ | Spring pin Steel wire Nitrided (32 | Cross-recessed head cap screw Steel wire Nickel plated
Rack Carbon steel @3 | Cross-recessed head cap screw Steel wire Nickel plated
(2 | Solenoid valve Hexagon nut Steel wire

Replacement Parts

(The corresponding parts shown below are sets.)

Size (Type) With solenoid valve, With solenoid valve auto switch
COVRAL0O[C60 P294020-49A
COVRAL10OC63 P294030-49A
COVRA1OO80 P294040-49
COVRAL10OO100 P294050-49A
Corresponding part No. @, @, 42, 19, @3, @4, @ are set.

1.3-18



Rotary Actuator with Solenoid V alve
Rack Pinion Style

Size 50, 63, 80, 100/Standard:CVRAlBSSOto 100

Single shaft style/CVRA1BS[50 to 100

Series CVRA1

8-J
(4 positions on the
G5 g back sid% ;‘ﬂ
|
O 0T 11
m
\o e/
BN
W R | S
>l
Port size(At the back)
109.5(Single solenoid) Rc(PT)1/4
158.5(2 position double soienoid)
' oDD
w oD . Double shaft style/CVRA1BWO
L b
u_l\‘ T
SOL.1 i
N @ & Efﬁfe =
| O 0 1 1
! Eee o ™
[T Q s "] -
14+« - L ; =
NS |
alipalil L
BA L. 37| BA ac
S VH DA CB(Max)
Double shaft style (mm)
Model D) G | M | N |UU| L
CVRA1BWOS50 |15 |11 |20 | 15 [118] 14
CVRA1BWO63 |17 | 13 | 22 | 17 |139] 16
CVRA1BWOS80 |20 | 15 | 25 | 20 |167] 19
CVRA1BWII100| 25 | 19 | 30 | 25 [202] 24
Single shaft style (mm)
Solenoid valve : :
Model Al B|BA| Cc|calce| R IPDl E | 4 J k | sO| u | w [ dimemsions ey dmensions
(96) | (h9) VH | VJ b ¢
M8 X 1.25 144 0
CVRA1BSO50 62 | 48 | 17 | 46 |85 |13 | 15 | 25 | 25 | 36 Depth 8 5 | (77 |98 | 17 | 39 |135 |5 5030| 25
M10 X 1.5 163 0
CVRA1BS[I63 76 | 60 | 20 | 57 | 10 | 14 | 17 | 30 | 25 | 41| ‘hooq7) 5 |(2015)|117 | 195| 39 | 205 |6.0030| 30
M12 X 1.75 186 0
CVRA1BS[80 92 | 72 |235| 70 |12 |18 |20 | 35| 3 | 50 Depth 13 5 | (230) |142 | 225| 43 | 285 |6.0030| 40
M12 X 1.75 24
CVRA1BSO100 112 | 85 | 25 | 85 |125| 18 |25 | 40 | 4 | 60 | pepih14 5 (313 172 | 28 | 43 |385 |8 003s| 45

d( ) are the dimension

s for rotation of 180° and 190°

Port size
Model Port size
CVRA1BS[I50 Rc(PT)Y/4
CVRA1BS[163 Rc(PT)Y/4
CVRA1BS[80 Rc(PT)Y/4
CVRA1BSO100 Rc(PT)Y/4

1.3-19

ol
a0
Q|
WRQ
s
Ty




Series CVRAI
Size 50, 63, 80, 100/Standard: CVRA1B, Foot Style: CVRAI1L

Single shaft with four chamfers/

CVRA1BX[O

&
I:l\{R
[a]

450

z
T
=
. £y
Sililic;

Model G|H|L|NJ|U
CVRA1BXO50 11 |27 |14 | 15| 89
CVRA1BX63 13|29 |16 | 17 |105
CVRA1BXO80 15 |38 | 19 | 20 [130
CVRA1BXO100 | 19 | 44 | 24 | 25 |156

Other dimensions are the same as the
single shaft.

Foot style/CVRA1LOO

Double shaft key/CVRA1BYO

Model ¢ H K Uu
CVRA1BYO50 25 36 5 134
CVRA1BYD63 30 41 5 158
CVRA1BY[80 40 50 5 192
CVRA1BYO100 45 60 5 232

Other dimensions are the same as the
single shaft.

L 313
& O, &
319 \S"ﬁ T
a4y
o~ e Ha <
ﬁ & %’;@ r-;-_—;u
1] tpeey A Foot bracket
4-gLB
Mounting hole
I ]
Jf_ %ﬁl [T T
Rl 3
e
.E. Ky
i i " n=im|
-
= = v
- LD
-
LE
Orhe dimensions above show pressurization to B port.
Model LA LB LC LD LE LF LH LT
200 | 224
CVRA1LOO50 62 9 44 (233) | (257) 41 | 108 | 4.5
235 | 263
CVRA1LOO63 76 11 55 (2735) | (30L5) 48 | 127 5
274 | 316
CVRA1LOO80 92 13 67 (318)| (360) 58 | 154 6
333 | 375
CVRA1LOO100 112 | 13 87 (399) | (441) 735 (189.5| 6

O( ) are the dimensions for rotation of 180° and 190°.
Other dimensions are the same as the single shaft.

1.3-20

Double shaft with four chamfers/

CVRA1BZ[]

Model G

M

N

U

uu

CVRA1BZO50 |11

20

15

89

109

CVRA1BZ[163 | 13

29

16

22

17

105

127

CVRA1BZ(180 | 15

38

19

25

20

130

155

CVRA1BZ[100 | 19

44

24

30

25

156

186

Other dimensions are the same as the
single shaft.



Solenoid V alve with Auto Switch

Rack Pinion Style

Size 50, 63, 80, 100/Standard: CDVRA1BS50 to 100

Series CVRA1

Single shaft style/CDVRA1BS50 to 100

Auto switch 8-J
D-A53 type (4 positions on the back side)
SA _SA/,
CA _T__ _‘ ’l» CA
o e L & Double shaft style/CDVRA1BWO
5B %1 3 —
s a7 s CRB
O ‘\@\}g/ O —
B o= +ff CRBU
e A | f— CRAL
79
= TV &k
Port size(On the back side) Azt ﬁ@% o CRQ
109.5 RC(PT)1/4 =t % = =
(Single solenoid) aels K%E (=)
1585 F\lfe; MRQ
(2 position double solenoid) oDD ' : = El —
D
o B D63 MSQ
oD
Eﬂ o | [T J= MSUB
SOL.1 ; /%(
T @ B __’g mf@‘@t @ =) %
N v u'j‘ 0| E‘t\:’ il Q 8 41}
S ™ ] 2
i e — @ ﬁ%ﬁj—%ﬁ " Double shaft style
o V 0 = o k- D
< > L]
S Model G|M|N| UU |aL
J {l = g (g6)
_IBA L 87 BA oc CDVRAI1BWOS50 |15(11[20|15[118 |14
s VH OA SB CDVRA1BWIO63 |17 |13 |22 |17 [139 |16
CDVRA1BWOS80 [20]15|25(20(167 |19
CDVRA1BWI100| 25|19 |30 | 25| 202 |24
Single shaft style
Valve : -
] ; Key dimensions
Model AlB|BA|C |cAalcB (ﬂg) '?%)) Flu| 3 s| K |u|w|sa|sB|sc|sD|sE |dmensions|®
9 vH[Va| b ¢
M8 X 1.25 156
CDVRA1BS[IS0 | 62| 48 | 17 | 46 |85 |13 | 15| 25|25 |36 | pony's | 5 | (1a0) |98 | 17 |33 [135/12 |14 |34 | 30| 135 5 3030 | 25
M10 X 1.5 175 0
CDVRA1BS[I63 | 76| 60| 20 |57 | 10 |14 | 1730 |25 |41 |pepiip| 5 | (p155) |17|195| 33 [145|12 | 21 |34 | 30| 205| 6 ox0 | 30
M12 X 1.75
CDVRA1BSC80 | 92| 72 [235|70 |12 |18 | 20|35 | 3 |50 [pri 13| 5 (;?12) 142(225| 33 |155| 12 | 29 | 34 | 43 | 285| 6 S0 | 40
M12 X 1.75 2
CDVRA1BS[100 (112 85 | 25 | 85 (12518 | 25| 40 | 4 | 60 |perns| 5 (322) 172|28 |33 |16 [12 |39 | 34 | 43 |385| 8 9036 | 45
[{ ) are the dimensions for rotation of 180° and 190°.
Foot style/CDVRALL OO
2
A
.
slg 1
& [
).J
e
Eg:n:;m e Foot bracket
4-0LB
Mounting hole
Model LA | LB | LC LD LE LF | LH | LT
212 236
CDVRA1LOOS50 62 9 44 (245) (269) 41 1108 | 4.5
I 1 247 275
] __%@ﬁ@_ ,_T}!— T CDVRA1LOO63 76 | 11 | 55 (285.5) | (313.5) 48 (127 | 5
==t 287 329
" Al e ,,;,,_% CDVRALLODB0 | 92 | 13 | 67 | 339y | (373) | 58 |154 | 6
5 EHH - 347 389
. CDVRA1LOO100 | 112 | 13 | 87 (413) (455) 73.5(1895| 6
= LD [ ) are the dimensions for rotation of 180° and 190°.
LE
1.3-21



	How to Order
	Specifications/Weight
	Construction
	Dimensions


